Skill

Group A - Inverse functions of linear expressions

Find  $f^{-1}(x)$ :

**1)** 
$$f(x) = 6x + 5$$

**2)** 
$$f(x) = 6x - 3$$

3) 
$$f(x) = 7x - 7$$

**4)** 
$$f(x) = 7x - 4$$

**5)** 
$$f(x) = 3x + 2$$

**6)** 
$$f(x) = 4x - 3$$

**7)** 
$$f(x) = 5x + 2$$

**8)** 
$$f(x) = 3x + 7$$

**9)** 
$$f(x) = 6x - 9$$

**10)** 
$$f(x) = 4x + 7$$

**11)** 
$$f(x) = 3x - 6$$

**12)** 
$$f(x) = 8x + 8$$

Group B - Inverse functions with powers and roots

Find  $f^{-1}(x)$ :

**1)** 
$$f(x) = \sqrt{\frac{x-4}{3}}$$

**2)** 
$$f(x) = \sqrt{\frac{x-2}{6}}$$

**3)** 
$$f(x) = \sqrt{\frac{x+7}{3}}$$

**4)** 
$$f(x) = \sqrt{\frac{x-5}{2}}$$

**5)** 
$$f(x) = \frac{\sqrt{x+5}}{5}$$

**6)** 
$$f(x) = \frac{\sqrt{x-9}}{3}$$

**7)** 
$$f(x) = \frac{\sqrt{x+4}}{7}$$

**8)** 
$$f(x) = \frac{\sqrt{x+3}}{2}$$

**9)** 
$$f(x) = (x - 7)^3$$

**10)** 
$$f(x) = (x + 7)^3$$

**11)** 
$$f(x) = (x + 6)^3$$

**12)** 
$$f(x) = (x - 6)^3$$

Group C - Inverse functions with fractions

Find  $f^{-1}(x)$ :

**1)** 
$$f(x) = \frac{5x-8}{4}$$

**2)** 
$$f(x) = \frac{6x-3}{7}$$

**3)** 
$$f(x) = \frac{8x+9}{7}$$

**4)** 
$$f(x) = \frac{7x-4}{9}$$

**5)** 
$$f(x) = \frac{8x-3}{6}$$

**6)** 
$$f(x) = \frac{x}{4} + 5$$

**7)** 
$$f(x) = \frac{x}{3} + 4$$

**8)** 
$$f(x) = \frac{x}{5} - 4$$

**9)** 
$$f(x) = \frac{x}{8} + 8$$

**10)** 
$$f(x) = \frac{3x-7}{x+5}$$

**11)** 
$$f(x) = \frac{4x+7}{2x+8}$$

**12)** 
$$f(x) = \frac{5x+4}{6x-14}$$

#### **Applied**

- 1) (a) Given that f(x) = 2x + 4 find  $f^{-1}(x)$ .
  - **(b)** Given that g(x) = 3x 5 find  $g^{-1}(x)$ .
  - (c) Solve  $f^{-1}(x) = g^{-1}(x)$ .
- **2)** (a) Given that f(x) = x + 6 find  $f^{-1}(5)$ .
  - **(b)** Given that g(x) = 2x 5 find  $g^{-1}(5)$ .
  - (c) Calculate  $g^{-1}(5) f^{-1}(5)$
  - (d) Calculate  $g^{-1}(5) + f^{-1}(5)$
- 3) (a) Given that g(x) = 6x 7, find  $g^{-1}(x)$ .
  - **(b)** Find  $g^{-1}(-2)$
- 4) A function is given by f(x) = 4x + 5. Complete the table below.

Input	Answer
$f^{-1}(2)$	$-\frac{3}{4}$
$f^{-1}(3)$	
$f^{-1}(-2)$	
	$\frac{1}{2}$
$f^{-1}(a)$	



- 1) Given that f(x) = x 8, find
  - (a)  $f^{-1}(x)$

(1)

**(b)**  $f^{-1}(4)$ 

(2) (3 marks)

- Given that  $f(x) = \frac{x+8}{5}$ , find
  - (a)  $f^{-1}(x)$

(2)

**(b)**  $f^{-1}(10)$ 

(2) (4 marks)

- Functions f and g are defined by f(x) = 3x + 5 and g(x) = 2x + 4.
  - (a) Find  $f^{-1}(x)$

(2)



Find  $g^{-1}(x)$ **(b)** 

**(2)** 

Find the value of x when  $f^{-1}(x) = g^{-1}(x)$ . **(c)** 

**(3)** 

(7 marks)

4) The function f is such that f(x) = 4x - 7. (a) Find  $f^{-1}(x)$ .

**(2)** 

**(b)** Solve  $f^{-1}(x) = 15$ .

**(3)** 

(5 marks)



	Question	Answer
	Skill Questions	
Group A	Find $f^{-1}(x)$ :	
	$\mathbf{1)}\ f(x) = 6x + 5$	$1) f^{-1}(x) = \frac{x-5}{6}$
	<b>2)</b> $f(x) = 6x - 3$	<b>2)</b> $f^{-1}(x) = \frac{x+3}{6}$
	<b>3)</b> $f(x) = 7x - 7$	<b>3)</b> $f^{-1}(x) = \frac{x+7}{7}$
	<b>4)</b> $f(x) = 7x - 4$	<b>4)</b> $f^{-1}(x) = \frac{x+4}{7}$
	<b>5)</b> $f(x) = 3x + 2$	<b>5)</b> $f^{-1}(x) = \frac{x-2}{3}$
	<b>6)</b> $f(x) = 4x - 3$	<b>6)</b> $f^{-1}(x) = \frac{x+3}{4}$
	<b>7)</b> $f(x) = 5x + 2$	<b>7)</b> $f^{-1}(x) = \frac{x-2}{5}$
	<b>8)</b> $f(x) = 3x + 7$	<b>8)</b> $f^{-1}(x) = \frac{x-7}{3}$
	<b>9)</b> $f(x) = 6x - 9$	$9) \ f^{-1}(x) = \frac{x+9}{6}$
	<b>10)</b> $f(x) = 4x + 7$	<b>10)</b> $f^{-1}(x) = \frac{x-7}{4}$
	<b>11)</b> $f(x) = 3x - 6$	$11) f^{-1}(x) = \frac{x+6}{3}$
	<b>12)</b> $f(x) = 8x + 8$	<b>11)</b> $f^{-1}(x) = \frac{x+6}{3}$ <b>12)</b> $f^{-1}(x) = \frac{x-8}{8}$



#### Group B

Find  $f^{-1}(x)$ :

**1)** 
$$f(x) = \sqrt{\frac{x-4}{3}}$$

**2)** 
$$f(x) = \sqrt{\frac{x-2}{6}}$$

**3)** 
$$f(x) = \sqrt{\frac{x+7}{3}}$$

**4)** 
$$f(x) = \sqrt{\frac{x-5}{2}}$$

**5)** 
$$f(x) = \frac{\sqrt{x+5}}{5}$$

**6)** 
$$f(x) = \frac{\sqrt{x-9}}{3}$$

**7)** 
$$f(x) = \frac{\sqrt{x+4}}{7}$$

**8)** 
$$f(x) = \frac{\sqrt{x+3}}{2}$$

**9)** 
$$f(x) = (x - 7)^3$$

**10)** 
$$f(x) = (x + 7)^3$$

**11)** 
$$f(x) = (x + 6)^3$$

**12)** 
$$f(x) = (x - 6)^3$$

$$1) f^{-1}(x) = 3x^2 + 4$$

**2)** 
$$f^{-1}(x) = 6x^2 + 2$$

**3)** 
$$f^{-1}(x) = 3x^2 - 7$$

**4)** 
$$f^{-1}(x) = 2x^2 + 5$$

**5)** 
$$f^{-1}(x) = 25x^2 - 5$$

**6)** 
$$f^{-1}(x) = 9x^2 + 9$$

**7)** 
$$f^{-1}(x) = 49x^2 - 4$$

**8)** 
$$f^{-1}(x) = 4x^2 - 3$$

**9)** 
$$f^{-1}(x) = \sqrt[3]{x} + 7$$

**10)** 
$$f^{-1}(x) = \sqrt[3]{x} - 7$$

**11)** 
$$f^{-1}(x) = \sqrt[3]{x} - 6$$

**12)** 
$$f^{-1}(x) = \sqrt[3]{x} + 6$$



### Group C

Find  $f^{-1}(x)$ :

**1)** 
$$f(x) = \frac{5x-8}{4}$$

**2)** 
$$f(x) = \frac{6x-3}{7}$$

**3)** 
$$f(x) = \frac{8x+9}{7}$$

**4)** 
$$f(x) = \frac{7x-4}{9}$$

**5)** 
$$f(x) = \frac{8x-3}{6}$$

**6)** 
$$f(x) = \frac{x}{4} + 5$$

**7)** 
$$f(x) = \frac{x}{3} + 4$$

**8)** 
$$f(x) = \frac{x}{5} - 4$$

**9)** 
$$f(x) = \frac{x}{8} + 8$$

**10)** 
$$f(x) = \frac{3x-7}{x+5}$$

**11)** 
$$f(x) = \frac{4x+7}{2x+8}$$

**12)** 
$$f(x) = \frac{5x+4}{6x-14}$$

**1)** 
$$f^{-1}(x) = \frac{4x+8}{5}$$

**2)** 
$$f^{-1}(x) = \frac{7x+3}{6}$$

**3)** 
$$f^{-1}(x) = \frac{7x-9}{8}$$

**4)** 
$$f^{-1}(x) = \frac{9x+4}{7}$$

**5)** 
$$f^{-1}(x) = \frac{6x+3}{8}$$

**6)** 
$$f^{-1}(x) = 4(x - 5) = 4x - 20$$

**7)** 
$$f^{-1}(x) = 3(x - 4) = 3x - 12$$

**8)** 
$$f^{-1}(x) = 5(x + 4) = 5x + 20$$

**9)** 
$$f^{-1}(x) = 8(x - 8)$$

**10)** 
$$f^{-1}(x) = \frac{-7-5x}{x-3}$$
 or  $\frac{7+5x}{3-x}$ 

**11)** 
$$f^{-1}(x) = \frac{7-8x}{2x-4}$$

**12)** 
$$f^{-1}(x) = \frac{4+14x}{6x-5}$$



	Que	estion		Ar	nswer		
	Арр	Applied Questions					
1)	a) (	Given that $f(x) = 2x + 4$ find $f^{-1}(x)$ .		a)	<b>a)</b> $f^{-1}(x) = \frac{x-4}{2}$		
	<b>b)</b> (	Given that $g(x) = 3x$	$x-5$ find $g^{-1}(x)$ .	b)	$g^{-1}(x) = \frac{x+5}{3}$		
	<b>c)</b> S	Solve $f^{-1}(x) = g^{-1}(x)$ .			x = 22		
2)	a) (	Given that $f(x) = x + 6$ find $f^{-1}(5)$ .		a)	$f^{-1}(5) = -1$		
	<b>b)</b> G	Given that $g(x) = 2x - 5$ find $g^{-1}(5)$ .			$g^{-1}(5) = 5$		
	<b>c)</b> (	Calculate $g^{-1}(5) - f^{-1}(5)$			5 1 = 6		
	<b>d)</b> (	Calculate $g^{-1}(5) + f^{-1}(5)$		d)	<b>d)</b> $5 + - 1 = 4$		
3)	a)	Given that $g(x) = 6x - 7$ , find $g^{-1}(x)$ .		a)	<b>a)</b> $g^{-1}(x) = \frac{x+7}{6}$		
	b)	Find $g^{-1}(-2)$		b)	$g^{-1}(-2) = \frac{-2+7}{6} =$	$=\frac{5}{6}$	
4)		A function is given by $f(x) = 4x + 5$ .			$f^{-1}(x) = \frac{x-5}{4}$		
		Complete the table	below.		Input	Answer	
		Input	Answer		$f^{-1}(2)$	$-rac{3}{4}$	
		$f^{-1}(2)$	$-\frac{3}{4}$		$f^{-1}(3)$		
		$f^{-1}(3)$			$f^{-1}(-2)$	$-\frac{1}{2}$ $-\frac{7}{4}$	
		$f^{-1}(-2)$			$f^{-1}(7)$	$\frac{1}{2}$	
			$\frac{1}{2}$		$f^{-1}(a)$	$\frac{a-5}{4}$	
		$f^{-1}(a)$					



		Question	Answer	
		Exam Questions		
1)	(a)	Given that $f(x) = x - 8$ . Find $f^{-1}(x)$	(a) $f^{-1}(x) = x + 8$	(1)
	(b)	Find $f^{-1}(4)$		(1) (1)
2)	(a)	Given that $f(x) = \frac{x+8}{5}$ . Find $f^{-1}(x)$	<sub>_1</sub>	(1) (1)
	(b)	Find $f^{-1}(10)$		(1) (1)
3)	(a)	Functions $f$ and $g$ are defined by $f(x) = 3x + 5$ and $g(x) = 2x + 4$ . Find $f^{-1}(x)$	_1	(1) (1)
	(b)	Find $g^{-1}(x)$	_1 _1	(1) (1)
	(c)	Find the value of $x$ when $f^{-1}(x) = g^{-1}(x)$ .	2(x-5) = 3(x-4) $2x - 10 = 3x - 12$	(1) (1) (1)
4)	(a)	The function $f$ is such that $f(x) = 4x - 7$ . Find $f^{-1}(x)$ .	_1	(1) (1)
	(b)	Solve $f^{-1}(x) = 15$ .	x + 7 = 60	(1) (1) (1)

#### Do you have KS4 students who need additional support in maths?

Our specialist tutors will help them develop the skills they need to succeed at GCSE in weekly one to one online revision lessons. Trusted by secondary schools across the UK.

Visit **thirdspacelearning.com** to find out more.